} N el

:r I) 1

REPLACEMENT PARTS

BL-2349
BL-2721-A
BL-3351-C
BL-3419
BL-3463
BL-3511-D
BL-4956-A
BL-5031
BL-5032
BL-5152
BL-5165-A
BL-5166-D
_ BL-5186-B
BL-5190
BL-5228
BL-5231
BL-5235
BL-5236-A
BL-5238
BL-5281
BL-5308
BL-5351
BL-5364
BL-5377
BL-5452
BL-5457
BL-5745

RAIL BODY

WING KIT w/MOUNTS
REAR TIRES

FRONT WHEELS
GEAR HUBS (PAIR)
REAR HUBS

RIDE HEIGHT POST
CHASSIS

CHASSIS BRACE
FRONT TIRE O-RINGS
MOTOR MOUNT
LEFT AXLE CARRIER
AXLE HEIGHT SET
WING MOUNTS
FRONT SPRINGS

FIBERGLASS SUB FRAME
BELLCRANK ASSEMBLY

REAR BRACE

FRONT AXLE PLATE
ANGLE BRACKET (4)
LINKAGE

STEERING BLOCKS
STUB AXLES
KINGPINS

REAR BUSHINGS (2)
FRONT BUSHINGS (4)
STEEL AXLE

ACCESSORIES
BL-2237 STREAMLINE RAIL BODY
BL-5451 BALL BEARING KIT

HARDWARE
BL-5221 E-CLIPS
BL-7010 4-40 x 1/4" FLAT HEAD SCREWS
BL-7011 4-40 x 3/8" FLAT HEAD SCREWS
BL-7012 4-40 x 3/4" FLAT HEAD SCREWS
BL-7030-B 5-40 x 3/8" CAP SCREWS
BL-7040 4-40 x 1/4" BUTTON HEAD SCREWS
BL-7044 5-40 x 3/8" BUTTON HEAD SCREWS
BL-7150 4-40 x 1/8" SET SCREWS
BL-7151 4-40 x 3/16" SET SCREWS
BL-7160 10-32 SET SCREWS
BoLINK R/C CARS, INC. BL-7202 4-40 NUTS
420 Hosea Rd BL-7206 5-40 NUTS

Lawrenceville GA 30045
(770) 963-0252 Fax (770) 963-7334
www.bolink.com

BL-1337 ECONO-RAIL

REVISED 3-15-00



